int init()

{

»

IndicatorBuffers(7); «— (1)

[| A==\ T7—DAT VIR
SetIndexBuffer(0,Span_A_L);
SetIndexBuffer(1,Span_B_L);
SetIndexBuffer(2,Span_A_H);
SetIndexBuffer(3,Span_B_H); «——(2)
SetIndexBuffer(4,Delay);
SetIndexBuffer(5,Change);
SetIndexBuffer(6,Standard);

[[A>2>0—F—D5N)L .
SetIndexLabel(0,"Span A Line");
SetIndexLabel(1,"Span B Line");
SetIndexLabel(2,NULL); <4— (3)
SetIndexLabel(3,NULL);
SetIndexLabel(4,"Delay");

[/ A0 —F—DASF1)L
SetIndexStyle(0,DRAW_LINE,STYLE_SOLID);
SetIndexStyle(1,DRAW_LINE,STYLE_SOLID);
SetIndexStyle(2,DRAW_HISTOGRAM,STYLE_SOLID);
SetIndexStyle(3,DRAW_HISTOGRAM,STYLE_SOLID);
SetIndexStyle(4,DRAW_LINE,STYLE_SOLID);

[/ EATHROYEEID= T b
SetIndexShift(4,-Standard_Period); «—— (5)

/1A > =0 —4 — Dt gk = .
SetIndexDrawBegin(0,Span_B_Period);
SetIndexDrawBegin(1,Span_B_Period);
SetIndexDrawBegin(2,Span_B_Period); [«—— (6)
SetIndexDrawBegin(3,Span_B_Period);
SetIndexDrawBegin(4,Span_B_Period);

return(0);




